
L SOFA SET + 3 SEATER
AS1001-GRDG
AS1001-BLDG

小台
If you have any questions, please feel free to contact us. 

Email: lowesteam@aminalife.com





11

K

H

F

L

U

B

G

A

S

A

X

P

E

O

Q

R

I

T

N

C O

Y

V

F

M

D

G

14

8

10

8

7

10

9 8

10

8



2 pcs

1 pc

1 pc

1 pc

1 pc 1 pc

1 pc
2 pcs

2 pcs 1 pc

1 pc 1 pc

A B

D E F

HG

K L M

I

C



1 pc

1 pc

1 pc

2 pcs

1 pc 1 pc

1 pc

1 pc 1 pc

1 pc

1 pc

R S

T U V

X Y 1

Q

PON

Bolt M6x120mm (8pcs)



2

9 10 11

12 13 14

3 4

5 6 7

8

2

2

M

M

Bolt M6x70 mm (4pcs) Bolt M6x50 mm (5pcs) Bolt M6x40 mm (46pcs)

Bolt M6x30 mm (13pcs) Bolt M6x15 mm (8pcs) 1 pc 

1 pc 1 pc 3 pcs 2 pcs 

1 pc 1 pc Allen key (1 pc)



7

4

4

1

2 pcs

4 pcs

2 pcs

4

4

4

4 E

I

F

1

1

4



8

G

T

5

55

3 pcs



2

9

11

4

4
4

4
4

4

R

4

11

6 pcs

1 pc



10

10

8

D

H
4

4

4

4

4

4 pcs



11

A

4

1

1

G

41

2 pcs2 pcs



12

5

5

C

11

5

11

3 pcs

1 pc



13

 

10

8

4

4
4

4
4

4

S

4

6 pcs



14

4

4

4
4

L

M

3

3
3

4
K

4

43

4 pcs

2 pcs3 pcs



15

 

 

B

5

5

3
3

5

5

5

5

N

5

5

3

4 pcs

3 pcs

2 pcs



16

10

9 8

2

2

P

O

2

2 pcs



17

O

2

2

Q

6
6

6

2

8 pcs

2 pcs



14

18

7

4

4

4

4 U

V

4

4 pcs



19

F

4

1

1

4

1

1

A

X

4

4

1

1

2 pcs

2 pcs

2 pcs

2 pcs



20

12

Y

4

4
4

4

4

4
4

4

4

12

8 pcs

1 pc



21

14

8

65

4

3

21

11
12

4 pcs4 pcs

4 pcs

4 pcs

2 pcs4 pcs

1 pc
1 pc



22


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22

